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2.1 Simplifying Rational Exponents
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If there is addition or subtraction in the denominator with a square
root then we need to multiply the numerator and denominator by the
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Is there a pattern?
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Complex Numbers: a+bi

® aisthe real partand
e b iisthe imaginary part

Simplify:
5) (7-6i)-(3-61)
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12) (ive + 3)?

13) (V5 + 4)(iV5 — 4) |
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Conjugatea+bi and a-bi

The expression is not completely simplified if there is an imaginary #
in the denominator so you have to multiply the numerator and
denominator by the conjugate of the denominator.
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Plotting Complex numbers

18. 3-21

16, -2 +4 1§

20. 31

21, -4-31




Algebra 2 Honors 2017-2018

Parent Function y = [x]

“V” shape

*In different groups graph the following on the same coordinate

plane and state the domain and range for each graph:

Group 1 Group 2

f(x) = |x + 2| f() = |x]+2
f(x) = |x — 3| f(x) = Ix]-3
f(x) = |x + 4] F(x) = |x|+4

f((x) = jx — 1| f(x} = [x]-1

Group 3
f(x) =-|x|
f(x) = % |x|
£(x) = 2|x]
f(x) = -3 x|
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Write the equation of the following graphs and state the D & R:
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8. The vertex of an bs%}ute value equation is at {-2, -3)' and goes

through the point (-1, -7). Write the equation of the function.
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9. A snowstorm begins with light snow that increases to very heavy
snow before decreasmg again. The snowfall r (in inches per hour) is

given by r(tj£-0. S’it — 4[+2 where tis the time (in hours).
iy (¢,
s Graph the functlon A

vertex @ {4 2 }

) -.f/
o

s What is the max snowfall rate?

A inchas- j o

s How are your answers related to the graph? .
K 5
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e The total snowfall is given by the area of the triangle formed by
the graph r(t) and the t-axis. What is the total snowfall?
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Solving Absolute Value Equations

**Always check for extraneous solutions**

11. [5x — 10]=45

10. |x — 5]=7
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2% if =3 <x<2
4 if2<x<4

—-x+5 if4<x <6

& A7

4) Graph on one coordinate plane: f(x)=

PN

Graph the following using a table:

N yx+1 if-2<x<1

N/
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2%&&‘3
6) flx)=<{2jx —1} -3
3x — 6

7) Write the piecewise function and state the domain and range

ifx<—1
if—1<x<2
if x> 72

Step Function

1
8) Graph f(x)=(?2
3

fo<x<1
iflsx<2
if2<x<3
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(-2.%1
9} Graphy=-2|x + 2] + 3 over the domains (-4, 1] U [2, 3]

» ¥
x2—4if x> —2
X +6|if x < —2

éf%sﬁé &

- 10) Graph the function f(x)= {
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11) The Mad Hatter is ordering cups from Teacups Limited for his tea
party. The Teacups Limited catalog prices cups according to the
number of cups ordered. For orders of 20 or fewer cups, the price is

S

u= %%ﬁ%f’ﬁ“ﬁo per cups plus S12 forghipping and  handling for the order. For

g

— Ofders more than 20 cups, the price ss@l 10 per cup plus SlS sﬁ"rgplng

and handling. - " f;é = Tiar i1

f

¢ Write a function to describe the price of cups

%_fésﬁ%x% 12 Y xE20 £
%5 =Yl &n;’ LT

T

s How much W

il it cost the Mad Hatter to orderf16 cup 2
Ll = gty - M

e |f the Mad Hatter wants to spend at most $45, what is the
maximum number of cups he can order?
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12) A wholesale t-shirt manufacturer charges the following prices

for t-shirt orders:
Cip=aox b > 77 Ly

$20 per shirt for up to 20 shirts \ 7 - o 2pix -
515 per shirt for 21-40 shirts *é =X 2 uj & A &0

$10 per shirt for 41-80 shirts —% p 2HOR A
P %f i HTEY

¥,

i % q_‘;,

&
¢

S5 per shirt for over 80 shirts ‘

e Write the function . /
o You have order@\sh&?and must pay $10 for shipping
and handling. H h is your order?




